SHMAFEEMFELTBERN pliExk

i BERPEIL7ER
A 3158 (A)
K& : Bh

215

BEAAYLINT 5T/ =70 —R

JI& {3z KZ A KF out in total
1 SHEE 3 AERF R A S 33 35 68
2 e 4 NG N 34 37 71

3T mHF 5 2 KFRIKFE 36 36 72
3T FEKE 3 KT 33 39 72
5T KEMNMEE 3 TEE K 36 37 73
5T A0 3 RKFRIAF 36 37 73
5T = BT 3 KFRIKFE 35 38 73
5T EA/NTF= 4 PiBite = aN=a 34 39 73
9T LFHBAE 4 TEE K 37 37 74
9T MHEE 2 PN AN 37 37 74
9T FEHE 2 EEARF 37 37 74
9T N GE 3 BRI A 34 40 74

13T SAER 4 BRI A 38 37 75

13T BHoKEH 2 KFRIKF 37 38 75

13T HAEFEDOY 3 PN N 37 38 75

13T thmERE 2 PN N 35 40 75

17T 2GRS 3 VT8 K5 38 38 76

17T + EMES 3 BEAKRF 38 38 76

17T BRI 3 BRI A 36 40 76

20T ENELGES 3 KIRF R A 39 38 77

20T =N 2 BRI A 39 38 77

20T BERfE 2 BEAKRF 38 39 77

20T P 3 KFRIKF 38 39 77

20T AP E A 3 VT K5 37 40 77

20T AR E 4 PN A N 37 40 77

20T Ly H R 2 AKFRIAF 37 40 77

20T IINAFE 4 BRI A 37 40 77

28T BFHEF 4 AKFRIAF 40 38 78

28T Pz 3 BEAKRF 39 39 78

28T £ A 3 PN N 38 40 78

28T ARFHEALTF 3 KIRFEESE KT 37 41 78

28T AR 4 R 34 44 78
33 PARGIE 2 N o 40 39 79

33T M B A 2 FREZFRF 38 41 79

33T FHEGE 4 R 37 42 79

33T BHoKEEAE 2 KFRIKF 34 45 79

37T SRER 3 KERF R A 42 38 80

37T RHAFF 2 KFRIKF 39 41 80

37T e kD 4 N AN 36 44 80

37T TR R 3 R KT 36 44 80

LU E. 3TRTOMRIRE FEAKRT) X CHABEAFAL FEBMR2HBEICEREL XL

A1T A [ THF 23 2 KFRIKF 40 41 81

A1T REED 2 KFRIKF 37 44 81

43T =ik 2 PN A 41 41 82

43T BOR 4 JERlE A 40 42 82

A5T H EBK 2 N A N 43 41 84

A5T /INHEE 2 KFRIKF 41 43 84




A5T BB 3 N AN 40 44 84
A5T INFHEE 4 PiBite = aNa 40 44 84
A5T HEREE 3 KIREZFE KRS 39 45 84
50 REARF 25 3 RV Ep N 42 43 85
51T = B 3 N AN 46 40 86
51T FHE % 3 i N 43 43 86
53T EOS 2 KR EZEKRF 44 43 87
53T HAE B 4 R FKF 42 45 87
55 X 1B 3 N AN 48 44 92
56 HHEE S 3 KR EZFEKRF 47 50 97
57 AKEIDE 4 RIEHKFE A7 54 101
58 THHEET 2 EEA RS 49 55 104
59 b HEE 2 EEA RS 59 55 114
60 H1EY) 3 EEA RS 63 65 128

RE h BRI 4 EEA RS

RE FAARES 4 Bt KF

RE HEMHE 4 i N

RJE 1, 4 SERRIR 3 Bt K+

K& L E 3 Bt K+

NS RGeS 2 N

RJE 0 FA Sk 2 Bt K+
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